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QUESTION 1

An existing master-slave setup is currently using a delayed replication of one hour. The master has crashed and the
slave must be "rolled forward" to provide all the latest data.

The SHOW SLAVE STATUS indicates the following values:

RELAY_LOG_FILE = hostname-relay-bin.00004 RELAY_LOG_POS = 1383 Which command set would make the slave
current?

A. STOP SLAVE; CHANGE MASTER TO MASTER_DELAY=0; START SLAVE,;

B. STOP SLAVE; CHANGE MASTER TO MASTER_DELAY =0, RELAY_LOG_FILE = “hostname-relaybin.00004\\',
RELAY_LOG_POS = 1383;

C. STOP SLAVE; CHANGE MASTER TO RELAY_LOG_FILE = "hostname-relay-bin.00004\\', RELAY_LOG_POS =
1383;

D. STOP SLAVE; SET GLOBAL master_delay =0; START SLAVE;

Correct Answer: A

QUESTION 2

Which two statements are true about setting the per-thread buffers higher than required?
A. More memory per thread is beneficial in all scenarios.

B. It causes increased overhead due to initial memory allocation.

C. It can affect system stability during peak load times, due to swapping.

D. It requires increasing the thread_cache_size variable.

Correct Answer: CD

QUESTION 3

Which three statements are characteristic of the MEMORY storage engine?
A. Each table is represented on disk as an.frm file.

B. Each table has a corresponding.MYIl and .MYD file.

C. It can support foreign keys.

D. It cannot contain text or BLOB columns.

E. Table contents are not saved if the server is restarted.

F. It can support transactions
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Correct Answer: ADE

QUESTION 4

Assume that you want to know which Mysqgl Server options were set to custom values. Which two methods would you
use to find out?

A. Check the configuration files in the order in which they are read by the Mysql Server and compare them with default
values.

B. Check the command-line options provided for the Mysqgl Server and compare them with default values.
C. Check the output of SHOW GLOBAL VARIABLES and compare it with default values.
D. Query the INFORMATION_SCHEMA.GLOBAL_VARIABLES table and compare the result with default values.

Correct Answer: CD

QUESTION 5

Which three data components are needed for point-in-time recovery?
A. The error log

B. The backup log

C. The general query log

D. Binary logs

E. The data backup

F. Configuration files

Correct Answer: DEF
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